55 HE #ET) O
0 HehpTrEIBFEESIL LI,

® 3kg= ( )¢ @ Bkg= ( ) 9
@ 5000g=( ) kg ® 6000g= ( ) kg
® 4kgB800g = ( ) ¢ ® 2kg 5009 = ( ) 9

@ 38409=( )kg( )¢ ®32109=( )ke( ) 9

!ﬁ@%ﬁ%%*mibxio

© F7T T80 5 L BRI DB Z < e )
@ BFLOH D5 L4 O HNEFZ < ( )
® 98209505 | OrF | O ToeFRT ( )
B0kt sBEESEL L,

O 22308 = # @ | % | O#= #

® 35#= £ # @ | O0#= 7 A

® | M4 0% = 9 ©® SrFfil | O = g

@ | 40%= il 5 ® 8049 = B Fe 5
® 8=  pem 35wm= |8 km

%Jrfé’él,i L&

RFEREFRIIBE 24 DICRELE: TOFLE) 1. SER 17 905>
THESZRIZES T L, BERICEVWARZ LI, FEMBRL2TL £ 9
DY,

= Ei



